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PUZZLE 01
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Nine persons - P to X, are travelling to three different cities - Bangalore,

Pune and Kanpur and of all of them are of different ages which is counted
based on the year 2021 and two persons with consecutive alphabetic
names are not travelling to the same city. E.g. S and T are not travelling to

the same city.

Note: i) Not more than four and not less than two persons are travelling

to the same city.

ii) If it is given X and the person who is 50 years old are travelling to the

same city then both are different persons.
iii) Age of none of them is more than 60 and less than 18.

Age of X is a prime number and he is born between the years R and W are
born. R is from neither Pune nor Bangalore but he is born in 1988. Q and
the person who is 24 years are travelling to the same city. U and S are
travelling to different cities and difference between their ages is 8 years.
R and U are not travelling to the same city but difference between their
ages is 20 years. Age of none of them is more than 60 and less than 18. P
does not travel to Kanpur. Two persons with consecutive alphabetic
names are not travelling to the same city. V is youngest among the
persons travelling to the same city but born before 1985. X is not 24 years
old and more than two persons are travelling to Kanpur. P is 5 years older
to Qwho is 5 years older to V but P is born after 1971. Difference between
the ages of P and X is 20 years. Age of T is double the age of the youngest

person travelling to Bangalore.
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P 21 9A- S 3R T THTH S B AT gl FRd & |

ie: i) IR A AP 3R G A FH safad JIHH ST B AT 761 Hd g |

i) afe g faar war g f X 8iiv 50 adifa safed IHH XX St aEAT H3d §, i
STl 3TET-3feNT afad B

iii) I8 A fb=dt o 1 3T 60 A 34t 3R 18 § HH 51 B

X B 3 TP 3HTST HBT § 3 SUPT S+ R 3R W & o+H & Tl & ol
g3 81 R a YUI 3R 1 & §aR A g, AfhT 391 579 1988 A g3 g1 Q
3R 98 SR o SH 24 T &, GHM WS PIAAT HIA ¢ 1 U 3fiR S 3IET-
3T R DI ATAT B 8 dYT 3P 3Y & I 8 a9 BT 3R g1 R AR U
T X6 D1 YTAT 81 B ¢ afb 3B U & §Id BT 3 20 4 g1 370
¥ fodt &1 W 39 60 § 3fir 3R 18 | &H &1 g1 P FTHY P IIAT &l
Hdl 8 | SPUNTA JUIHTAT AATH dTel & safad THIH e S AT Agl dRd g1 V
HHTH XX P AT B aTd AfGadl A G99 Biel § Al ITHT o+ 1985
q UES §3MT UTI X B 3T 24 94 781 7 3R & I 3if¥ep Al STHYR ot arA
HRAEIP, QA5 T TSI MR Q, VA 5 94 TS § dfb P BT &4 1971 F
q16 B3 81 P 3R X P 3T & 1T T 3 20 a4 81 T DI 3 SIS I ATAT
B dTd G99 HH IY & AfGd I 3Y H SR 8|
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PUZZLE 02

eeeee

different years either 2020 or 2021. Information about some of them is
known. Note: No two known persons were born in the same month of
different years. P was born four months after | where both were born in
different years. | was born in the month which has an even number of
days. S was born immediately before P. Only four persons were born
between R and S. G was born two months before R but was born in an
even humbered year. N was born in the month which has less than 30 days.
As many persons born before N is same as after M. Only two persons were
born between O and M. The number of persons born between L and Q is
same as the number of persons born between O and L. J was born in the
adjacent named month of M but both were born in different years. H was

born five months after J.

2020 IT 2021 &Y (-3 Tl & SET-3T T U AT ST W afaeaal &l
S g3MTI S99 & $© & IR H AFMDRI 71d g1 Aie: dig t g1 919 safdd srerT-
3T 9UI & T 51 Aol A UGT A5l €I P &1 o-H WX IR HalH 916 §31T YT, 581 g1
BT TH S-S qUI | §T UTI AT o7H 39 He A | g ¢ forgd fel &1 d=n
9 81 S BT oFH P 9 31 Ugd §3IT UTI R 3fi¥ S & o9 Had IR Afaadl &1 o7 H
§3MT UTI G BT 9 R F &) AE UgA g3 4T AfPT IHST o= JH @ arat af o
E3MT ATI N T o9 39 Tl | g 4T forad 30 e ¥ #0 €1 N A ugd o= =faaal
B T-ITM & I1¢ GHH 51 0 3R M & S Had & safaadl &7 o= g3 L 3k Q
& d o1 feadl @1 =T 0 3R L & §i 91 faadl &t =T & A g1 J B
S STt § §3MT 4T M T HEHT ARG 8 afdb+T Gl BT SFH SIeTiT-3( T aul § gaT
YT| H BT 579 J & Ui Aol 916 31T AT
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PUZZLE 03

Nine persons M, N, J, K, P, T, V, Y and Z attend the seminar in three differ,eégitusv
months January, June and December on three different dates of a month. No
two persons attend the seminar in same date of same month. Each one of them
likes different fruit Apple, Banana, Kiwi, Avocado, Cherry, Apricot, Papaya,
Orange and Grapes. All the above information is not necessarily in the same

order.

Four persons attend the seminar between P and the one who likes Banana. As
many persons attend the seminar after the one who likes banana and before
Avocado are same. Two persons attend the seminar between the one who likes
Avocado and M. Y neither attends the seminar with P nor with M. Z and Y
attends the seminar in same month. Neither Z nor Y likes Banana. There are six
days gap between P and the one who attends the seminar immediately before
P.Only one person attends the seminar between K and the one who likes Apple.
P attends the seminar on 30th of the month. The one who attends the seminar
Immediately after the one who likes Apple attends the seminar on 18th. T
attends the seminar immediately before the one who likes cherry. T attends the
seminar on odd numbered date. P attends the seminar in a month which has
maximum number of days. Z attends the seminar immediately before Y. T and
the one who likes Avocado attend the seminar on same date. Number of
persons attends the seminar after the one who likes cherry is same as number
of persons attending the seminar before the one who likes Orange. One of the
persons attends the seminar on December 17th. The one who likes Grapes
attends the seminar immediately before the one who likes Apricot. The one who
attends the seminar immediately after papaya is on 27th. The one who likes
Apple attends the seminar after K. There are eight days gap between the one
who attends the seminar immediately before N and M. J and K attends the
seminar on same date. Two persons attend the seminar between J and the one

who likes Orange.
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Maf@ M, N, I, K, P, T,V, Y 3R Z T 3eT-3eRT 7M1 SHast, 97 R fedar # te
HEH D diF 3IeNT-3eNT dRIEl UR SRFR ¥ 4T dd 81 ®ig i o aafey @ g 7diq &1
TS g a1 U AR # HRT 161 dd &1 370 9 U I 3eNT-3eNT Bd 94, ddl, Pidl,
Taldbs!, T, Jart, gdidr, JeRrT R 3R gdg ¢ | SWiad 9 et simawas =8 f
sl B H Bl

P 3R HT U P aTd Afed b 914 IR Afedd AR & YRT A §1 FAT UdE HA a1
TR P 91¢ 3R TaIPbS! A Ugd AR & YRT oA a1a Saferaal ) 6@ T4 2 | Taiche!
Ui B a1d fadd 3R TH & o9 ¢ oufed 4R § YT dd &1 a8 F o ¢t & 91y
ARAR § YR ar & 3R 98 T & 91y | 9 3R 918 te & 7 & IR & 4T o &
TN ZAMRAT Y P FAT WG eI PR ST AR & S B A PT SIAR g & P I 3P
g AR § HRTAAT 81 K 3R Apple UHE B4 dTel AR & 91 Fad U AfR AR
H HRT AdT B 1 P HeIH P 30 dRIG &I AR | HRT AT 31 98 e oIl TWd U8G B
9T Afed & qid a1¢ AR § YRT a1 8, 18 aRIE &) AFAR  yRTdar 81 7, 39 Wi
H aTd Afed 9 S1P Ugd AR & YR AT 21 7 fauw T=m arelt aRe ) AfER A
YRT AdT 81 P 39 "4 § AfFAR # 4R @ar 8 forad siftreaw o9 81 z, v 9 31& ugd
AR d YRT A1 81 T 3R O Taters! Wi § 98 S3l aRK &I AR § T AT ¢
T TG P dTd AfRT & 916 HIUAR A R a4 a1al safeadl &1 6:T, JavT I8¢ H3
qrel Sufed ¥ Uge SR & YR a9 arel safead) &1 W21 & JHE g1 599 A U Hfad 17
feviaR @) VAR T YT A 31 98 aufd R SR Wi § 98 War! Ude #3A a1d e
q 31 Tgd IFAR & YRT dAa1 81 98 fed &t gt & qid 91¢ AR & HIT Ad1 € 98
274 WY TR g | S Sfed TWd YIS HIdT g 98 K & 91 AR A URTAdT 81 N 3R M A
31 uyge AAR & 4N o1 are Afw & o9 3ms A1 &1 3idv 81 J 3R K U% g1 daikg
R ATEAR § I dd §1 J SR AR [ U=ig H31 a1a Afad & a1 &f safad IREAR |
YRT A 8
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ANSWER

PUZZLE 01

Bangalore Q44 ‘W24 |U 53
Pune S45 P49 |V 39
Kanpur R33 [T48 |X 29

PUZZLE 02

YEAR & MONTH

PERSON

2020 January

February

N

March

April

May

June

July

August

September

October

November

December

2021 January

o wm

February

March

April

QO | L

May

June

July

August

September

October

November

December

PUZZLE 03
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MONTH-DATE PERSON FRUITS
JAN 18 K Orange
JAN N Papaya
JAN 27 M Apple
JUNE 18 J Banana
JUNE Z Kiwi
JUNE 23 Y Avocado
DECEMBER 17 |V Grapes
DECEMBER 23 T Apricot
DECEMBER 30 P Cherry
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INPUT & OUTPUT

INPUT STEP | STEP I STEP 1l STEP IV
39526 27512 75221 17 A
48568 32548 B 22 26
72535 14515 11455 16 C
46473 24421 12244 D 16
37283 E 42221 11 12
92446 18424 84421 19 28
1) What comes in the place of A?

a) 28

b) 24

c) 18

d) 32

e) None of these

2) What comes in the place of B?
a) 85432

b) 48532

c) 84523

d) 65442

e) None of these

3) What comes in the place of C?
a) 26

b) 28

c) 32

d) 22

e) None of these

4) What comes in the place of D?
a) 21

b) 25

c) 13

d) 22

e) None of these

5) What comes in the place of E?
a) 12242

b) 21224

C) 12424

d) 24242 4 r@
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e) All the above statements are true

DATA SUFFICIENCY

a) If the data in statement | alone is sufficient to answer the question,
while the data in statement Il alone is not sufficient to answer the
question.

b) If the data in statement Il alone is sufficient to answer the question,
while the data in statement | alone is not sufficient to answer the question.
c) If the data either in statement | alone or in statement Il alone is
sufficient to answer the question.

d) If the data given in both statements | and Il together are not sufficient
to answer the question.

e) If the data in both statements | and Il together are necessary to answer
the question.

1. Nine persons are sitting in the linear row facing north. Who among the
following person sits third to the left of B?

Statement I: C sits fourth to the left of I, where neither of them sits at the
extreme ends. As many persons sit to the left of C as to the right of D. Only two
persons sit between D and E. G sits second to the left of E. Only four persons
sit between F and A, who sits third to the right of H.

Statement llI: H sits fourth from one of the extreme ends and sits third to the
left of A. Only five persons sit between D and A, who doesn't sit adjacent to B.
F sits second to the right of D. C sits third to the left of I, who sits to the
iImmediate left of E. Only two persons sit between E and G.

2. Eight persons - P, Q, R, S, T, U, Vand W are sitting around a square table
in such a way that four of them sit at the corners and the remaining four
sit in the middle of the sides of the table and all are facing towards the
centre. Who among the person sits second to the left of T?

Statement I: Q sits third to the left of W, who doesn’t face T. One person sits
between W and P. R sits opposite to V, who sits to the immediate right of P. As
many persons sit between R and S as between S and U. S doesn't sit at the
corner.

Statement II: One person sits between R and S. Q sits third to the right of S. P
sits second to the left of Q. As many persons sit between P and V

as between V and W. U sits to the immediate left of W.
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3. Eight persons -1, J, K, L, M, N, O and P are living on the 8-floor building
where the lowermost floor is numbered one and the floor immediately
above it is numbered two and so on. Who lives immediately below I?
Statement I: O lives on an odd numbered floor and three floors above K. Only
one floor is between K and N. L lives immediately below N. As many floors
below L as above J. M lives two floors away from J. | lives on one of the floors
above P.

Statement Il: Four floors are between O and K, who lives on an even numbered
floor. J lives three floors below K. As many floors between J and P as between

P and N. M lives above |, who doesn’t live below L. L doesn't live on the adjacent
floor of O.

4. Seven boxes - A, B, C, D, E, F and G are kept in a stack one above the
other. Which box is kept two boxes above C?

Statement I: Box F is kept three boxes below G. Only one box is kept between
F and E. Box A is kept three boxes above E. Box D is kept adjacent

to A. Only one box is kept between D and B.

Statement Il: Box E is kept two boxes above F. Two boxes are kept between F
and D. Box G is kept immediately above box D. As many boxes kept above B as
below G. Only one box is kept between C and A.

5. What is the phrase for the code “kl gm wv ds” in the given coded
language?

Statement I:"Holidays are very boring” is coded as “gw er ty ui”, “Need long
holiday trip” is coded as “ty op kl hj” and “Sudden vacation to Dubai” is coded
as "gf ds az xc”

Statement Il: “Boring long story subject” is coded as “er op vb nm”, “Need very
interesting vacation” is coded as "hj ui gm az" and “Sudden to horror story” is
coded as “gf xc nm wv”
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ANSWER

INPUT & OUTPUT EXAN

Directions (1-5):
1) Answer:
2) Answer:
3) Answer:
4) Answer:
5) Answer:
We have:
For step I: The product of the first and the second digits, as well as the
product of the fourth and the fifth digit is taken and the middle digit
remains the same.

For step II: If the number is odd, then the digits are rearranged in
ascending order, whereas if the number is even, then the digits are
rearranged in descending order.

For step IlI: The digital sum of numbers is taken.

For step IV: the digital products of the two digit numbers are added with
the two digit number.

DATA SUFFICIENCY

N >W

1) Answer: c) If the data either in statement | alone or in statement |l alone

IS sufficient to answer the question

2) Answer: a) If the data in statement | alone is sufficient to answer the
guestion, while the data in statement Il alone is not sufficient to answer

the question.

3) Answer: b) If the data in statement Il alone is sufficient to answer the
guestion, while the data in statement | alone is not sufficient to answer

the question

4) Answer: d) If the data given in both statements | and Il together are not

sufficient to answer the question

5) Answer: e) If the data in both statements | and |l together are necessary

to answer the question
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